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PRODUCTOS NOTABLES  

 

 

 

  
 

Matricula:_________________Nombre:_________________________________Grupo____________ 

 

COMPLETA EL TÉRMINO QUE FALTA, PARA QUE LOS TRINOMIOS 
RESULTANTE SEAN CUADRADOS PERFECTO.  

 
(𝒂 + 𝒃)𝟐 = (𝒂)𝟐 + 𝟐(𝒂)(𝒃) + (𝒃)𝟐 = 𝒂𝟐 + 𝟐𝒂𝒃 + 𝒃𝟐 

(𝒂 − 𝒃)𝟐 = (𝒂)𝟐 − 𝟐(𝒂)(𝒃) + (𝒃)𝟐 = 𝒂𝟐 − 𝟐𝒂𝒃 + 𝒃𝟐 

𝒂𝟐 + 𝟒𝒂 + _______                  

 

 

𝟗𝒙𝟐 − 𝟏𝟐𝒙 + _______      

 

 

             

 

𝟐𝟓𝒂𝟒 − ________ + 𝟗 

 

 

 

𝟒𝟗𝒙𝟐 − _______ + 𝟏𝟔𝒚𝟐 

 

 

 

 

_______ + 𝟖𝐱 + 𝟏𝟔 = 
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